H £ 0l & AF & S

Al A

SA - BE - SRA(SIH) - AIRA -

15
0x
Jo

Ofl &F2H

SlEl=
ol &y

&

M

26,166,768
2,670,586

742,569
6,445,465
16,308, 148

18,410,240

&0

A

4,8%6,222
9,926
284,689
1,609,552
2,952,055

5,359,592

503,370

Mo
o

=2
i
™
0l00

Y

UMY

2,200,222
9,926
284,689
287,752
1,617,855

2,169,692

30,530

I

£l

\J

Hl=2ZAH RIA

0

MW

19,852
9,926
2,978
6,948

19,852

307 212t01™

Mo W

19,852
9,926
2,978
6,948

19,852

19,852,000 & x 14!

Mo W

19,852

19,852
9,926
2,978
6,948

19,852

M

5,000
1,300
3,700

5,000

307 212+01™

M

5,000
1,300
3,700

5,000

5,000,000 * 14!

MO

5,000
5,000
1,300
3,700

5,000

M H

8,000
1,000
7,000

8,000

307 212t01™

8,000

8,000
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M 2322t
MM 230|SAE Qe S
telr 23z ds CEREED
2 - IE!
S B SR(EA) - NIRAY - BaS ol ke e HmESY
ORsaZ ANHFNALFIY|
8,000,000& 8,000
301 E2E = 1,100 600 500
11 HAFLHIXIE 3 600 600 0
OZstil=At FAT ol 24
50,0003 4 H+33] 600
14 J|EI24 3 500 0 500
OLAHSHYAE DS ALY
250,000& x23] 500
307 212t01 & 660,000 541,000 119,000
02 IZHAAAIHE XL 393,000 291,000 102,000
ONE2stAlY &3 XNIZ 139,000
-2 AIHEsHl K&
64,000,000& *14! 64,000
—8tAl D= 22| 2F XI&
5,000,000 14! 5,000
—8tAlZl AlIY &2 XI&
3,000,000 *14 3,000
-Z2oldY AEAIY X
3,000,000 14 3,000
“Jel Al 2totar=Cth EHStAIY XIJ
20,000,000& *14! 20,000
-2 2stna 29 N
21,000,000& * 14! 21,000
-0l 28UA 22 X~
20,000,000 » 14l 20,000
~HEQAEAL MM (EHAX) S8 W KA
3,000,000& x14! 3,000
OX<g tl=&s X2 120,000
-SI=0IS0HE X3 EH3ALY
40,000,000 14! 40,000
-018X% ¥ 0l=2Dtel 43 XA
7,000,000 14! 7,000
-0 MO A EASIALY K&
11,000,000 * 14! 11,000
-doic| dAIEs K3
25,000,000& *14! 25,000
-HENdEEH 243 KA
25,000,000& *14! 25,000
-0 EEH L2t XA 5,000,000 14! 5,000
-0zl A2t WA
7,000,000 14! 7,000
ORllE AIHES XIZ 10,000
-DIOIE GIEASY HEDQ BHBA N
3,000,000 14! 3,000
—SHLH HXF &2k X3 7,000,000 14! 7,000




A 2221
g 2sosdE gt X
telr 23z ds CEREED
. = SIE]
SA - B - SA(SH) - MRA - BES ol &t e HIDSZ
O=SEZ=2C IE25 2ASAY Xd
5,000,000 14| 5,000
Ok S=gdlial =& It X
2,000,000 %14 2,000
OFHBUM=UE 23t X2
10,000,000 * 14 10,000
oseeEs N 60,000,000 *14] 60,000
OSFHAEE & 85 A&
12,000,000 *14] 12,000
O2stg7s] SEAAYE XI&
5,000,000& *14] 5,000
O dsst=s2Isd RN JIEAME X2
30,000,000 *14] 30,000
03 2IIHHEE=2SHIE X 50,000 45,000 5,000
Ot=0suEX 3 28 N
45,000,000 *14] 45,000
ogls KT 234 XA
5,000,000& *14] 5,000
04 QIZFHAMAIE 22 217,000 205,000 12,000
Ol Zet S-S AKX 25,000
-2 L2 AdS st ~elid
A& 3,000,000 %14 3,000
OIE HR BAIMUE K@
22,000,000 *14] 22,000
OXg tl=2s AN 133,000
-ME=2A K2 10,000,000& » 14 10,000
-clAel or2lg A X2
10,000, 0003 * 14! 10,000
-Oidd=M X2 23,000,000 * 14! 23,000
—HE MOHHUT AL X
15,000,000 » 14 15,000
-Ed 2o X
20,000,000 *14] 20,000
-HEEZtLH X2
20,000,000 *14] 20,000
-0 82 =M X2 5,000,000+ 14! 5,000
g0l wols)| IARBSH K
20,000,000 *14] 20,000
-HEANE 2etraeD] S28 X3
10,000,000 *14] 10,000
O2ME AtEES HALKIZ 59,000
-EEHI A XA
12,000,000& * 14 12,000
&80l Rcl=0l &XI X
15,000,000 * 14! 15,000
-Gl otelg l X1 22,000,000 * 14! 22,000
2EL P22 dEH=2ME A XIS
10,000,000& » 14 10,000




A sttt
g 2sosdE gt X
telr 23z ds CEREED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
SHU=243 200,000 160,000 40,000
= 58,000
= 142,000
307 el2tol & 200,000 160,000 40,000
= 58,000
[Ea 142,000
04 QIZHHAIAIH 2 £ 200,000 160,000 40,000
O=210| J|&ol= SStHAEE K&
70,000,000& *14] 70,000
= 21,000
2 49,000
O4E27Z 2aisig X
50,000,000 » 14 50,000
= 15,000
[Ea 35,000
OXgaln hote s s%=l X
40,000,000& *14] 40,000
== 12,000
2 28,000
OU7PZE HAEUAAANS] HE N
40,000,000 x 14 40,000
= 10,000
[Ea 30,000
Sg==pA012d A 407,770 315,800 91,970
Il 284,689
= 36,924
s 86,157
307 el2to| & 407,770 315,800 91,970
Jl 284,689
S 36,924
= 86,157
02 2B YA E X 407,770 315,800 91,970
OSg=2018dAE XA
407,770,000 x 14 407,770
) 284,689
< 36,924
s 86,157
&HIOLCIOI K& 5,500 5,500 0
= 1,650
Ea 3,850
307 gl2to| & 5,500 5,500 0
=S 1,650
= 3,850
02 QB HANEER 5,500 5,500 0




SN 2SR
M ZI0=RE elZet 2=
tel: 23tz &8 (SH9 M)
SIA - BE - O9I(B) - NIRAIY - S Ofl b e HIR=2
SEERT T EETRE
5,500,000& * 14! 5,500
& 1,650
= 3,850
AS=S2HEIEBHEH =S AL X2 28,500 28,500 0
& 6,000
= 22,500
307 QIZt01 A 28,500 28,500 0
= 6,000
= 22,500
02 QIZHAAAIEER 28,500 28,500 0
O=SE 24 2aE22A XI&
28,500,000 3 14 28,500
& 6,000
= 22,500
SEMNSA HSKA 29,600 29,600 0
T 8,600
= 21,000
307 QIZ2t01 A 29,600 29,600 0
= 8,600
= 21,000
02 QIZHBAAIEER 29,600 29,600 0
OFE AMESA euE 29 X
29,600,000 * 10 A 29,600
& 8,600
= 21,000
H2AMU(RS)UAE XA 70,000 70,000 0
T 21,000
= 49,000
307 2I2+01™ 70,000 70,000 0
= 21,000
= 49,000
02 QIZHBAAIEER 70,000 70,000 0
OHMSNAZIIME I
70,000,000 * 14 70,000
& 21,000
= 49,000
elael=HM KA 20,000 20,000 0
T 6,000
= 14,000
307 2I2+01™ 20,000 20,000 0
T 6,000
= 14,000
04 QIZHHAIAIHE B X 20,000 20,000 0




2A: a2
M ZI0=RE elZet 2=
tel: 23tz &8 (SH9 M)
SIA - BE - O9I(B) - NIRAIY - S Ofl b e HIR=2
SLEEEEEL N E
20,000,000 & 14| 20,000
& 6,000
= 14,000
A Al AIRIDE BHGH=E 2802tAI0] XI& 20,000 20,000 0
& 6,000
= 14,000
307 QIZt01 A 20,000 20,000 0
= 6,000
= 14,000
02 QIZHAAAIEER 20,000 20,000 0
O=2I1t &Nsct= Z&otatdI0l X
20,000,000 3 14! 20,000
& 6,000
= 14,000
O =2MAOIEEZEASIA K& 220,000 220,000 0
T 40,000
= 180,000
307 QIZ2t01 A 220,000 220,000 0
= 40,000
= 180,000
02 QIZHBAAIEER 220,000 220,000 0
OWE=ZMACIEZLSIN XA
220,000,000& 14! 220,000
& 40,000
= 180,000
20 LIREHSH X 170,000 150,000 20,000
308 AXISHMSOIA 170,000 0 170,000
11 3I| 2 S0 HeHE & =2 E AL 170,000 0 170,000
OaZ=8 LIRH=H M=l
170,000,000 * 14| 170,000
XE0l=2 8835 A X3 6,500 6,500 0
T 1,950
= 4,550
307 212+01 A 6,500 6,500 0
& 1,950
= 4,550
02 QIZHB AT E R 6,500 6,500 0
OdlZ0l=2 43 N
6,500,000 * 14| 6,500
T 1,950
= 4,550
NED|s=2 HOHQIEHOAIE ZHEXA(EX) 4,500 4,500 0
= 1,350




A sttt
g 2sosdE gt X
telr 23z ds CEREED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
[Ea 3,150
402 2IZtA=01d 4,500 4,500 0
=S 1,350
s 3,150
02 RIINEASEZ(0IETHR) 4,500 4,500 0
OX90l=2 HoAE =4 K&
4,500,000 * 14 4,500
< 1,350
= 3,180
HE=ANSEH 10,000 0 10,000
= 3,000
a 7,000
307 gl2to| & 10,000 0 10,000
=S 3,000
s 7,000
02 QB AANEE R 10,000 0 10,000
OXNelsu2st st=Utzl WX
10,000,000 * 14! 10,000
< 3,000
= 7,000
Zote 24 XI& 125,000 122,000 3,000
= 12,000
Ea 113,000
307 gl2to| & 125,000 122,000 3,000
S 12,000
o 113,000
03 PIHHEE 22X 125,000 122,000 3,000
ONESEY 298| X2
125,000,000 * 14! 125,000
< 12,000
Ea 113,000
N =SS ESRA(EX) 20,000 17,000 3,000
= 6,000
[Ea 14,000
307 elzto| & 20,000 17,000 3,000
= 6,000
o 14,000
02 QItAHAIEE X 20,000 17,000 3,000
OOt=AQH It XL 2SI
20,000,000& * 14! 20,000
< 6.000
[Ea 14,000
fclote 2elitd SHEXE 100,000 0 100,000
= 65,000




2A: a2
M ZI0=RE elZet 2=
tel: 23tz &8 (SH9 M)
SIA - BE - O9I(B) - NIRAIY - S Ofl b e HIR=2
= 35,000
307 212+01™ 100,000 0 100,000
T 65,000
= 35,000
04 QIZHSHAAIES E X 100,000 0 100,000
O=Re2liet felotd 29X
100,000, 000& * 14! 100,000
= 65,000
= 35,000
SMz Y 20 X3 2,656,000 3,189,900 533,900
& 1,321,800
= 1,334,200
S3EA2 X3 AL 20,000 20,000
308 AXIHMSOIH 20,000 20,000
08 WEI|Z0CHEtE = 20,000 20,000
OUdEAN2 TAXE 72 K&
20,000,000 *14! 20,000
A2 M2 XA 10,000 21,900 211,900
402 QI2EXH=01 N 10,000 21,900 211,900
01 QIR A 2 (KHRITHE) 10,000 21,900 211,900
ORSTHZ THTY X
10,000,000 & 14 10,000
SUEEA22E XA 6,000 6,000 0
& 1,800
= 4,200
308 AXISHMSOIA 6,000 6,000 0
& 1,800
2 4,200
N EP RS 6,000 6,000 0
OstIl DIEEAHZ 28X
6,000,000 * 14 6,000
= 1,800
= 4,200
HEZAHZ HE X AFS(HEALY) 2,620,000 3,142,000 A522,000
& 1,320,000
[ 1,300,000
308 AXISHMSOIA 2,620,000 3,142,000 AB22,000
T 1,320,000
= 1,300,000
08 WEI|Z0CHStE = 2,620,000 3,142,000 AB22,000
Ol 2SI SAIS
2,620,000,000& 14 2,620,000
= 1,320,000
= 1,300,000
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2A:

=L B EEBIEINPEEE
el 23tel2 2Zo 243t (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
~SHRUIIH Z2LHES A
10,000,000& » 14 10,000
-35 Alds dJ| 28 Ed
2,000,000& *23] 4,000
OFAS U =H| 800
-2, S&, RUIIH 284 1
200,000 #33] 600
-AgE, 29, ™2 A WS
200,000& %12 200
Ogxz 2,328
-HIGI Xt 30,000 ~4LH* 122 1,440
-g=J| X 37,0002 «2CH~ 122 888
OfRz g3t &g 5,000, 0003 »4& 20,000
02 S3=gHl 136,095 140,400 A4,305
OsE2= & HA 69,155
-HIIR3 5,000,000& x12& 60,000
-Halks 80,000& 122 960
Aot Rs 200,000 x 122 2,400
-R&Rs 20,0002 x 122 240
-LEURS 4303 *5005 215
—A YoM Bl 100,000 %12l 100
S=RUHSEE 20,0002 12 240
-Sr=2st=al2 Agsll
4,000,000& *12] 4,000
-e=2sttlsal2 WrE =X 2|
1,000,0002 %12 1,000
OdZH| 13,440
-HEFFH(SI12)
1,6002%1,200 £ +7 & 13,440
OAI2EbBI= X 53,500
2332 AE |2
10,000,000 * 14| 10,000
801, AZAIE FAl2
1,500,000& 25 3,000
“RUDIH AIAE SXI2tel
10,000,000& * 14! 10,000
-AE, 2HI| RRl2c
600,000& x2S 1,200
“SAD| FA2el 3,200,000& =14 3,200
-dS, AMEHISE, BEQHeAE R
& 4,000,000 * 14 4,000
-Sg, g5l |2
500,000 45 2,000
-S4, 0TV |Xl2el 500,000 x25 1,000
-CXIggA| 230128 3
8,000,000 *14] 8,000




Mo

336,500

SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
-RlHsSE &2 9,000,000& 14| 9,000
- UHSHO FAl2te
1,500,000 *14] 1,500
-ZtC2eld| szt
100,000 x35+23] 600
03 Ar=EHI 20,000 20,000 0
O=2z J8sd I 20,000,000& * 14| 20,000
206 MH=Hl 16,500 21,500 A5,000
01 MZH| 16,500 21,500 /5,000
O=2zga =5 & &lj&Acls Hlg 7
5,000,000& *14] 5,000
O=steld 2B 11,500
-8 WNIT 150,000 * 10H 1,500
-AE Ziet Ed 200,000 «5K & 1,000
-AgygE 2y 9,000,000 14| 9,000
401 AIE2BIXL S THYI 35,000 35,000
01 AlZH| 35,000 35,000
O=ztalat =4 dIJHE &%
35,000,000 *14! 35,000
405 AHAHE S 79,500 9,000 70,500
01 TR =S F = 79,500 9,000 70,500
ORUHAEE HOI=F 7Y
10,000,000& » 14 10,000
O DA% 15,000,000 = 1CH 15,000
OgAE 1ds ESZERH
2,500,000 1CH 2,500
Ol 22 13,000,000 *4CH 52,000
2& 9,089,007 6,164,985 2,924,022
= 2,660,660
Il 221,880
< 1,525,113
[Ea 4,681,354
=3 2+ & 2l 9,089,007 6,164,985 2,924,022
= 2,660,660
Il 221,880
= 1,525,113
= 4,681,354
=S 2 2= 3,746,000 3,132,000 614,000
= 2,217,400
< 764,300
T 764,300
401 AIZHIZL SO 2,198,000 1,347,000 851,000
1,525,000




A sttt
X 2 2&
&Pl 23 2= & 22 (EEREE))
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
2 336,500
01 Al&H| 2,117,000 1,282,000 835,000
O0® orzey z7t0/220)]
12,000,000 * 14! 12,000
= 8,400
= 1,800
a 1,800
O0lE srEM SI0ITHAE HIE 2=
20,000,000& * 14! 20,000
= 14,000
= 3,000
[Ea 3,000
O0lE 22 M 2I0ITHAF K0T 2Rl
24,000,000 * 14! 24,000
= 12,000
= 6,000
o 6,000
Olld IEE EFHAH L 2LIEHE
125,000,000 * 14| 125,000
= 87,500
=S 18,750
s 18,750
Oua a3t 23 H=HAH & 2LIEE
120,000,000 * 14| 120,000
= 84,000
== 18,000
o 18,000
Oua Al 23 2 2+
40,000,000 * 14 40,000
= 28,000
== 6.000
[Ea 6,000
O dsii 23 =5 d=s2d e
60,000,000& » 14 60,000
= 42,000
< 9,000
[Ea 9,000
Oud =2t8 |8 == 4528 He
30,000,000& * 14 30,000
= 21,000
< 4,500
T 4,500
OUE N ALK LELE =2 & =8 Y|
1,471,000,000& » 14 1,471,000
= 1,029,700
& 220,650




A 2322t
Hy: 2l 2=
&Pl 23 2= & 22 (EEREE))
SA - ZB . 9(B) - NIRA - BaS ol ke e HlmS2
i 220,650
OWlE =eke| A58 XK &X & EA
70,000,000 14 70,000
= 49,000
& 10,500
i 10,500

Ould dgtel A&sd s dHIIES EXI8

85,000,000& *14] 85,000
= 59,500
S 12,750
ia 12,750

Ould sgel a2 ds2d i

60,000, 00024#14} 60,000
= 42,000
S 9,000
a 9,000
02 Zteltl 81,000 65,000 16,000
OUF S2A HEXD 2BH X2 HHl2s
2| 18,000,002 14! 18,000
= 12,600
S 2,700
T 2,700
OUE S2A 23 WELY HAZ 24 22/
22,000,000 & = 14! 22,000
= 6,600
= 7,700
T 7,700
OUIE BEA SZUIZTLIZEY QA
HE L Feml 22l
12,000,000 x 14! 12,000
= 8,400
= 1,800
[ias 1,800
OUIE HAAK @BHE 42 * F&t F)
2eldl 29,000,000& * 14! 29,000
= 20,300
= 4,350
s 4,350
402 SIZERHE0| M 1,548,000 1,785,000 A237,000
= 692,400
= 427,800
[ias 427,800
IED 1,548,000 1,785,000 237,000

02 QI X2 AL E 2 (
f

Olld EZAt HHEEY 28U XIS HME=
182,000,000 x 14! 182,000




2A:
PSER
o e

ool

MO [HO HO
for fot for
22

il
He

el

it
x
0

¥

& - eRA(3AH) - MRAY - BES

Ofl &F2H

SlEl=
ol &y

OllE S2A &t W= MAIZ B

978,000,000& 14

02

02
= 0t
=

S TEEAIs2EH

100,000,000& * 14!

=2 0

0 =
Nz oY

Old HEA AXHIZXLI=Aa QALK
M= =& =8I 288,000,000 x 14

o

HOH W HoH W HoH W

HH W

127,400
27,300
27,300

978,000
293,400
342,300
342,300

100,000
70,000
15,000
15,000

288,000
201,600
43,200
43,200

+

10
ogl
MO
ton
=
H
30
ra

dl X1

M H

21,600
10,800
10,800

21,600

307 212t01™

UMY

21,600
10,800
10,800

21,600

21,600,000 *14]

M

21,600

21,600
10,800
10,800

21,600

H

61,800
30,900
30,900

61,800

M

61,800
30,900
30,900

61,800

61,800,000 *14]

M

61,800

61,800
30,900
30,900

61,800

S SHHAF X2

10
02
MO

A H

18,500
9,250
9,250

18,500

307 212t01d

18,500

18,500
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